
Recap

Thermodynamics

For a given chemical reaction:

aA + bB → cC + dD

• ∆𝐺𝑟𝑥𝑛
° = ∆𝐻𝑟𝑥𝑛

° − 𝑇∆𝑆𝑟𝑥𝑛
°  

𝛥𝐺𝑟𝑥𝑛 = ∆𝐺𝑟𝑥𝑛
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• van’t Hoff equation:

ln 𝐾𝑇2 − ln(𝐾𝑇1) =
∆𝐻𝑟𝑥𝑛

°

𝑅

1
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−
1
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Refer to the note



Recap

Thermodynamics continued

For a given chemical reaction:

aA + bB → cC + dD

For 𝛥𝐺𝑟𝑥𝑛 = ∆𝐺𝑟𝑥𝑛
° + 𝑅𝑇ln(

𝑎𝐶
𝑐𝑎𝐷

𝑑

𝑎𝐴
𝑎𝑎𝐵

𝑏)

If we define 𝑄 =
𝑎𝐶
𝑐𝑎𝐷

𝑑

𝑎𝐴
𝑎𝑎𝐵

𝑏      (reaction quotient)

Then 𝛥𝐺𝑟𝑥𝑛 = ∆𝐺𝑟𝑥𝑛
° + 𝑅𝑇ln(𝑄) 

Keq is the Q at equilibrium

Refer to the note



What about Activity?

Aqueous Geochemistry

Refer to the note
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